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Y13 Pure Chapter 2—Functions and Graphs

Wwhat do | need fo be able to do?
By tre end of the chapter you shoud be. sok tor

»  Understand ond use the moduls function

»  Undergland mappnags and fonelions, and 12 domain ord ronge

»  Corbre two or more furcliors to eet o compsite furchion

»  Fwow how to find the rverse of @ furetion bolh arapricaly ord
alebrocdy

»  Seeleh the graphs of The moduls function

»  (Oprly a combrnalion of trareformaltions to a cunve
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words:

= MooddE = fhe sbeolie wle o modde of 6 real rumier i,

dencled |x|JEtmmH!@Immﬁxﬂwmm
te s sen. For exampke, the absolile vae of 3 & 3, and the
sbsobie vale of =3 £ ako 3

Composite funclion = 0 funclion made of olver funclions,
wingre. the cufpul of one & the rpul o the otier

Fwerse furction = On rwerse frction & a fonclion that
wnces The aclion of arotner function

To skeleh the graph of y = | o + b |, skelehu = ax + b and then
refiect any section of the groph thal & below the x-ws in e x-aus

¥=|dx — 12|

Wwhen solng moduls equations abebracoly uoy corsider the postive
ond regalve. argumert {re furction renz the modis) szpavalely

Sobe | 2= 1]=5 _ /
Jx=1"5
=6

x=3

{2 =10-5

ke 1=5

=4

K=

»  Trarsform o modks furction N
L
The Moduls Furclion
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Composite. Funclions

Oilvcws opply the rade. funclion first.

To find falx) do alx] first then substiiute yowr arswer into
li) to fina the arawer

Ea fl) = x* and ) =+ |

Furctions and Mappings
0 mappra & a foretion £ each rput hos o defiret alpu. Foreltiors con
efier be oe-to-ore or maru-to-ore

ore-to-ore. mory-to-one rot_a function

B G

a) Fird o) bl Fird oflx)
gd) = e1= 3 fi) = 12

T -y
Iifu" Feq o) =+ |
The Iverse Funclion

Tre rvesse. of o furction pesforme the cpposte operalion
to the ongnal furction bverse furetions only exd for one-
fo-ore. furcliors.

The rvesse of a function flx) & witten as f-Yx)

Tre arophs of y = fix) and y = £4) ore. eflections of each
other in the re y = x

The doman of flx) & the range of 4

Tre rarge. of flx) & tre. doman of Y

To find the imerse funetion: i) = x2= 3 fird £-\x)
0 wrtet sy~ | y-'=3
A) v x ond y A x-p=3
3) Rearronge to moke uthe subeet 3] v+ 3) =y
4) Regloce y with f-{x) 4] 4 = i+ 3)
wr-3 £
yeder 3




